EARAROBEEIERT — 2 N— IBISH —F

201851078190 (&) 15EIEMH3A

m C3 #5%3®kL (xwlw | lmEmml - |5 ) o
[AE4£] 1% :280,000 ™ ~ 23#%&:79,000  33&:39,000  437&:28,000H .~ 57&:22,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N rihEt 122, -1-1- . — AR EE (FER)
lglglt>7u—7 5 ) 1(2_2)9 1-1-1-1 | 40.5 1 (4_622) W(;%ﬂ
¥y ¥/¥EF BINERIFIX FIEDAN ¢ ]
5= ft 3 | BRI 1:23.0 6-5-4-2 |39.4| — 4 454 | TBEEE (ER)
211|1|7Fx=>74 54.0 (172) 4y | ELEX
:ZhASTYE—> BiNYa—)b LIFBsS
e e TE®E . 3-3- - Esh—15 (EH)
N - BEEEErEE M "8 0 ey | FEs 0 ° f_ii LA e
R:T7VFER BiAAYYTa)— PN
. TN NLUE : —8-7- — IRAF (FEiH)
4 A AT vamedy 3 o (13.213/.5 8-8-7-4 |39.9 9 (4:118) ppne
2:7VF=yY BiN==bh—F— ZHLE—FRF—TIV
= 5 = 4 5 | HREE 1:24.1 9-9-6-4 |40.3| — 2 510 | =Rsocih (FEkh)
5 6| 7171 bTT1 56.0 @) -2 e
LN=YT7714 B:XNINXy hO=T J=HrTr—L
2 Hh% 124, ~7-8- . — iz (BR
6155 JI)F v 0Olb -8 56.0:!_ (11 214/23) i b ° (4_(;6) BAR=
R:ZRFAT— K B:gARTF w0 ¥ T L
o 3 | EER 1:24.8 4-4-5-8 | 41.5| — 6 439 | WITiEiE (Fal)
] 3| EAVa—7 54.0 ® Co) | B F7vaTu—zes sk
Z:A—-rFp+rR7 B:A-Y—3IX b [EA=bie]
N NP . AZmER : —2-2- - I\FIE4S (E)
8189 TITVFIN=T)> e 54.0 (12215/22) (FFd || B € (4_2;) /EH'O 751
R:A—-LILFLA4A B:7974FT77 b HEAFENS
— g # o3 | JRE— 1:25.5 5-6-8-9 | 41.7| — 7 519 | /VMIEH (EB)
917l7 _‘/71'\/’}7// 56.0 (11/2) (-a) THE—
a7z B:T77IUXL4L Z2RAIWNT7—L
® I—F—@EBIERL
12=3zr= (8,9),2,3,7,1,5,4,6
Ao=5"= 8,9,2,3,1,7,5,4,6
33—7F— |8,9,2,1,3,6,4,(5,7)
43—+ — 8,1,2,(4,6),9,5,3,7
[ RN
B 8 220 794K 1-8 290 & 1-8 790 &R 1-2-8 1,270M
# B 8 1204 2-8 290M B E 1-8 730M EE 8-1-2 2,830
1 140 1-2 640M BB 8-1 940M
2 160

ABICOVWTRDTEEERROODE. TR LIV,




